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@ BE : 160cm
@ &5 : 45kg
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®/)\1#FJL: 125/75 mmHg 76bpm 36.8°C

2



EAXFHRO

O J&E : 1047 -FEriReElE (IR AGEEEMSEMELIR)
84 AFl---AlixERE (EEGME)
=MmE. #1572

o IRFEE :

« J7EFZ> (HXRHF-) 20mg BA1T
FAEU> (J\1T7REVU>) 100mg BA1T
rEILZE> (BH)LTJOvD) 16mg B1T
JOEXNUAEMIE (J\wTITJA4—) 45mg FA1T
I+ (F—7I/LS) 80mg BREI2T
FrTURIGEE (OS5 U—)L) 50mg E1T 1T
RoARUR> (FDTFUY) 10mg 3T BE#%

A7 > UEE (U2EO512) 5mg 3T BE®
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e BMI =FE-BER(m)?
45kg+1.6m<2=17.6

® FERMIIR(%) =

{RIRE-BEARE(RIMAE

5100

5 )} B R AE

(45kg-52kg)+52kgx100=-13.5%

oAl bfE- - -2.6mg/d/
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O J\UANRRFT 1 D MNE (BRAHE)
66.47+(13.75%45kg)+(5.0x160cm) — (6.75x80F)
=945.5kcal (EREHI=E)
945.2kcalx 1.2((E&FHEN) x 1.0( A b L A&E)
=1135kcal WMWETR)LF+—)
o iEZE (WEIRIF—)
45kgX27kcal=1215 kcal

® 7000kcal/ 1kg(FARIRILF—=&H:R)
7000kcalx 7kg =49,000kcalA &
1HDOAE= 49,000/90H(3H) =544kcal=550kcal
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o MWEBJZAIESEE - 6Ekgx0.8g~1.0g/kg

45k gx0.8~1g =36~45q/

o WEIKDE - AE 1kgx30~35ml
45k g x25~30=1350~1575mé/
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